LoNG DIVISION WITH A REMAINDER UP TO 100 (G-5)

Name:
SOLUTIONS
Time: Score: y—
49) 3609 5= T721.8 50) 1659 : 3=553
- 35 ~15
10 15
~10 15
09 09
) 9
40 0
-0
0
51) 58837 59=997.23T7 52) 24600 29=848275
—531 — 232
573 140
—-531 —116
427 240
—413 — 232
0 80
220 220
- 177 —203
430 170
—413 — 145
17 25
53) 16629 37=449.432 54) 40281 41=982463
— 148 —369
182 338
— 148 —328
349 101
-333 - 82
160 190
— 148 — 164
120 260
—111 — 246
90 140
- 74 —123
16 17
55) 17301 41=421975 56) 45933 7T7=596.532
— 164 —385
90 743
~-82 -693
81 503
—41 — 462
400 410
—369 — 385
310 250
— 287 —231
230 190
—205 — 154
25 36
Mathematics: Division - Level 4b - German division - Set 5 29
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